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Question 1
Question Type: MultipleChoice

To ensure no information is lost in an MQ cluster, what is the recommended number of queue managers that should be specified as full

repositories?

Options: 
A- One

B- Two

C- Equal to the number of partial repositories

D- None

Answer: 
B

Question 2
Question Type: MultipleChoice



An organization is looking into enabling multiple instances of Cloud Pak for Integration - Operations Dashboard in a single Cloud Pak for

Integration cluster. What statement below is true?

Options: 
A- The namespace/project must be partitioned before enabling additional instances

B- Only one instance can be enabled per namespace/project

C- Multiple instances can be enabled on the same namespace/project

D- Only one instance can be enabled per cluster

Answer: 
C

Question 3
Question Type: MultipleChoice

Which statement is true about IBM Event Streams?



Options: 
A- A hierarchical Pub/Sub topic architecture is available

B- All servers must be located in the same data center

C- Persistent storage is enabled by default

D- By default the consumers offset is automatically committed in the background

Answer: 
A

Question 4
Question Type: MultipleChoice

What are two Aspera use cases?

Options: 
A- Send and share large files and folders stored in on-premises data centers and major clouds



B- Secure and reliable transfer of sensitive data, such as payment information, between applications

C- Managed file transfer capabilities using messaging transport to move data

C- Create distributed event-streaming platform to ingest a large volume of data in real-time

E- Data migration to, from, and between on-premises data centers and any major cloud

Answer: 
B, C, C

Question 5
Question Type: MultipleChoice

Which two Cloud Pak for Integration products can run in HA mode without the need for quorum?

Options: 
A- MQ

B- App Connect Enterprise

C- Aspera



D- Event Streams

E- API Connect

Answer: 
A, D

Question 6
Question Type: MultipleChoice

A decentralized ownership approach in modern agile integration methodology leads to which benefit?

Options: 
A- Accelerated development agility

B- Operational agility with dynamic scalability and inherent resilience

C- Installation agility that enables auto deployment

D- Business agility with a guaranteed improved time to market



Answer: 
B

Question 7
Question Type: MultipleChoice

Which statement is true about the Monitoring component of Cloud Pak for Integration?

Options: 
A- It is built on the ELK stack

B- Data persistence is not enabled by default

C- Only a user with role ClusterAdministrator can perform write operations

D- It requires an additional license

Answer: 
D



Question 8
Question Type: MultipleChoice

Which situation would lead to loss of an etcd quorum in an OpenShift v4 cluster?

Options: 
A- The database used by all Cloud Pak for Integration components is corrupted

B- OpenShift has lost all worker nodes

C- The majority of master/control plane hosts are lost

D- One of the master nodes has gone off line

Answer: 
A

Question 9
Question Type: MultipleChoice



Which of the following maximizes durability by replicating message data into three availability zones, making Event Streams resilient to

infrastructure failures?

Options: 
A- Geo-datasync

B- Triplewrite logging

C- PersistentVolumes

D- Multi-zone architecture

Answer: 
D

Question 10
Question Type: MultipleChoice

How can DataPower Gateway workloads be restored in the DR site?



Options: 
A- DataPower Gateway container images need to be available in a container registry that the DR site has access to

B- Cloud Pak for Integration can automatically synchronize the running pods with the DR site

C- In Cloud Pak for Integration Platform Navigator, select the running DataPower Gateway instance and then click 'Export for DR site'

D- Containers do not hold state, which would require workloads to be reconfigured from scratch

Answer: 
D

Question 11
Question Type: Hotspot

Click the diagram that shows a decentralized IBM MQ Containerized Architecture:





Answer: 

Question 12
Question Type: MultipleChoice

Which Command Line interface tool provides an analyze method which validates resources configuration and print validation messages?

Options: 
A- calicoctl

B- oc

C- cloudctl

D- istioctl

Answer: 
A
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